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QUESTION 1

What is a risk analysis used for?

A. Arisk analysis is used to express the value of information for an organization in monetary terms.

B. A risk analysis is used to clarify to management their responsibilities.

C. Arisk analysis is used in conjunction with security measures to reduce risks to an acceptable level.

D. A risk analysis is used to ensure that security measures are deployed in a cost-effective and timely fashion.

Correct Answer: D

QUESTION 2

You have just started working at a large organization. You have been asked to sign a code of conduct as well as a
contract. What does the organization wish to achieve with this?

A. A code of conduct helps to prevent the misuse of IT facilities.

B. A code of conduct is a legal obligation that organizations have to meet.

C. A code of conduct prevents a virus outbreak.

D. A code of conduct gives staff guidance on how to report suspected misuses of IT facilities.

Correct Answer: A

QUESTION 3

Susan sends an email to Paul. Who determines the meaning and the value of information in this email?
A. Paul, the recipient of the information.

B. Paul and Susan, the sender and the recipient of the information.

C. Susan, the sender of the information.

Correct Answer: A

QUESTION 4
You have an office that designs corporate logos. You have been working on a draft for a large client. Just as you are
going to press the button, the screen goes blank. The hard disk is damaged and cannot be repaired. You find an early

version of the design in your mail folder and you reproduce the draft for the customer. What is such a measure called?

A. Corrective measure
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B. Preventive measure
C. Reductive measure

Correct Answer: A

QUESTION 5
Why is air-conditioning placed in the server room?

A. In the server room the air has to be cooled and the heat produced by the equipment has to be extracted. The air in
the room is also dehumidified and filtered.

B. When a company wishes to cool its offices, the server room is the best place. This way, no office space needs to be
sacrificed for such a large piece of equipment.

C. Itis not pleasant for the maintenance staff to have to work in a server room that is too warm.

D. Backup tapes are made from thin plastic which cannot withstand high temperatures. Therefore, if it gets too hot in a
server room, they may get damaged.

Correct Answer: A
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